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Math 20-2
Trigonometry Worksheet - Review from 10C

Complete each of the following triangles. This means determine the length of each side and

the measure of each angle. You can use any trig function you wish, Pythagoras or sum-of-angles-in-
a-triangle theorem.
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Word Problems

1. Asupport cable is anchored to the ground 5 m from the base of a telephone pole. The
cable is 19 m long. It is attached near the top of the pole. What angle, to the nearest
degree, does the cable make with the ground?
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2. The base of a ladder is on the level ground 1.3 m from a wall. The ladder leans against
the wall. The angle between the ladder and the ground is 71°, How far up the wall does
the ladder reach to the nearest tenth of a metre?
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3. Afire truck has an aerial ladder that extends 30.5 m measured from the ground. The
angle of inclination of the ladder is 71°. To the nearest tenth of a metre, how far up the
wall of apartment building can the ladder reach?
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4. From the top of a 65 m cliff, the angle of depression of to a boat in the harbour below is
54°, Determine how far the boat is from the base of the cliff, to the nearest metre.
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